
DAILY BASIS  ASSIGNMENT 

Date:01.05.2020       Class: VI                         Day: Friday 

 

 Subject : English 

Read the following passage carefully and answer the questions that follow : 

 

                                  The First Voyage of Sindbad the Sailor 

 

I bought a large quantity of merchandise and made preparations for a long voyage. Then, with a company 

of traders, I set sail from Bagdad and journeyed many days from island to island, buying, selling and 

exchanging whenever we dropped anchor. At last we came to a little island that seemed very beautiful. 

The passengers went ashore , lit fires, and were soon busy cooking and washing. Some began to eat, 

drink, and be merry, whilst others set out to explore the fair island. Suddenly the captain cried aloud from 

the ship, "Come abroad speedily. Leave everything and run for your lives. God be with you, for this is no 

island, but a huge whale floating on the surface of the ocean. On its back sands have settled and trees have 

grown. The heat from your fires has awakened it. It will plunge below the surface and all will be lost." 

Immediately, there was panic. Terrified visitors threw themselves into the sea. Those who could, swam 

desperately towards the ship. 

 

From the given alternatives, choose the best choice as your answer. 

 

(a)  By profession Sindbad was a  

      (i)  trader                                          (ii) sailor 

    (iii)  soldier                                       (iv)  cook 

 

(b) When the passengers, reached the island they did the following. 

     (i)  Ran around                                  (ii) Went to sleep 

   (iii)  Constructed huts                         (iv) cooked, washed, ate, drank and explore the fair island 

  

(c) The captain Sindbad discovered that 

     (i)  the island was abandoned            (ii) the island was a huge whale 

   (iii)  the island was going to sink       (iv) the island was about to abrupt 



 

(d)  The island had been awakened by 

     (i)  the heat of the fires                      (ii) the cold water 

   (iii)  the thick vegetation cover          (iv) Sindbad 

 

(e) The passengers panicked in the following way. 

     (i)  They started crying                     (ii) They started eating faster 

   (iii)  They climbed onto the ship       (iv) They threw themselves into the sea 

 

Subject : Maths 

1. Predecessor of 3-digit greatest number is_______ 

A. 101 

B. 100 

C. 999 

D. 998 

   2. There are 4200 oranges in some boxes. If each box contains 60 oranges, how many boxes are there? 

A. 60 

B. 70 

C. 90 

D. 80 

    3. 540 billion=_______ crore 

A. 54,000 

B. 5,400 

C. 54 

D. 540 

 

 4. How many 3-digit numbers can be formed by using 5,0 and 2 without repeating any digit in the 

number? 

A. 2 

B. 6 

C. 4 

D. 8 

 5. 35+75 = 75+35 is an example of 

A. Closure property 

B. Commutative property 



C. Associative property 

D. Distributive property 

Subject: Physics 

MULTIPLE CHOICE QUESTION( Select the right option):-- 

 

1. The distance between any two points is defined as__________ . 

a) Weight  b) Length  c) Mass  d) Time                                                                                  

2.The invention of ______brought about a revolution in the mode of transport . 

a) Lever b) Pulley  c) Wheel  d)Axle 

3. What is the SI unit of time? 

a) Hour  b) Second  c) Minute  d) Nanosecond 

4.What is the SI unit of temperature ? 

a) Celsius  b) Fahrenheit  c) Kelvin  d) Romer 

5. A motion that does not repeat itself after regular interval of time is called ____motion . 

a) Rectilinear b) Rotational c) Periodic d)Non periodic 

 

Subject: Chemistry 

Multiple Choice Question (MCQ)  

1. Which one of the following is not made by glass?  

(a) Beaker  

(b) Test-tube  

(c) Magnet  

(d) Mirror  

  

2. Which one of the following is not made by plastic?  

(a) Toy  

(b) Coin    

(c) Mug  

(d) Ruler  

  

3. Which one of the following has round shape?  

(a) Water  



(b) Sugar  

(c) Globe  

(d) Air  

  

4. Which one of the following is made by metal?  

(a) Beaker  

(b) Wooden-chair  

(c) Magnet  

(d) Tyre  

  

5. Which one of the following is non-eatable thing?  

(a) Water  

(b) Orange  

(c) Sugar    

(d) Globe 

 

  

Subject: Biology 

 

       Multiple choice questions :  

  
1) The main carbohydrate which we eat in our food is:  

a) Canesugar         b) glucose       c) cellulose     d) starch  

  

2) Which of the following is a good source of both calcium and phosphorus?  

a) Fish        b) carrots         c) milk        d) oranges  

  

3) One of the following is necessary for keeping gum and teeth healthy. This is :  

a) Vitamin B      b) Vitamin D     c) vitamin A      D) vitamin C   

  

4) Fish is a rich source of :  

a) Iodine       b) Iron      c) phosphorus      d) potassium  

  

5) The vitamin essential for good eyesight, healthy skin and hair is vitamin :  

a) A      b) B      c) C     d) D  

 

 



Subject: S. S. T 

Q. Multiple choice questions[MCQ]  

1. Asteroids are rocky object orbiting the__________  

a. Earth                      b. Sun                      c. Stars             d. Moon 2. A group of stars that forms 

a certain imaginary shape is called a  

a. Asteroid                b. Constellation          c. Comet          d. Meteorite   

3. The sun and other star are huge body is made up of  

a. Liquids                  b. Rocks                    c. Hot gases               d. Cold gases  

4. Light year from the sun reaches the earth in about  

a. 8 seconds                b. 8 minutes             c. 8 days             d. 8 weeks  

5. The sun makes life possible by providing us with  

a. Oxygen                  b. Heat and light          c. Water               d. Air  

   

                ***************************  

Subject: Computer 

Multiple choice questions (select the correct one):- 

   

1. The Full Form of LLL is: 

a) Low Level Language  

b) Light Language Level        

c) Latest Language Level   

d) None of these 

 

2. The Full Form of ALGOL is: 

a) Alphabetic Geographical Language  

b) Algorithmic Language        

c) Analytical & Logical Language 

d) None of these 

 

3. The Language that is made up of 0’s and 1’s is: 

a) Machine Language    

b) Assembly Language        

c) Human Language 

d) None of these 

 

4. Which language was developed in 1950’s? 

a) Assembly Language    



b) Machine Language 

c) Natural Language         

d) None of these  

 

5. Which generation language is also known as very High Level Language? 

a)  Sixth  

b) Fourth 

c) Second       

d) None of these 
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